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FOREWORD 

The Advanced Certificate of Secondary Education (ACSEE) is a summative 

evaluation marking the end of two years of Advanced Secondary School in 

Tanzania. This examination, among other things, shows the effectiveness of 

the educational system in general and the educational delivery in particular. 

Essentially, the candidates’ responses to the examination questions show 

how the teaching and learning objectives were achieved in the classroom. 

The Candidates’ Item Response Analysis report (CIRA) in English 

Language subject for the 2020 Advanced Certificate of Secondary Education 

Examination (ACSEE) has been prepared in order to provide feedback to all 

education stakeholders on the candidates’ performance in the subject. 

The report is intended to provide a clear understanding of the reasons behind 

the candidates’ success or failure in English Language subject. It highlights 

the factors that made the candidates perform well in the examination. These 

include the ability to interpret the questions and to follow instructions as 

well as sufficient knowledge about the concepts and the principles related to 

the subject. In addition, the report indicates that some of the candidates 

scored low marks because they failed to interpret the requirements of the 

questions and they lacked sufficient knowledge about the concept tested. 

The National Examinations Council of Tanzania (NECTA) expects that the 

feedback provided in this report will enable the school managers, teachers, 

students, education administrators, school quality assurers, and other 

education stakeholders to take appropriate measures to improve the teaching 

and learning of the English Language subject in Secondary Schools. This 

will eventually strengthen the performance of prospective candidates.  

Finally, the Council would like to thank all those who participated in 

preparing this report. 

 

       

Dr. Charles E. Msonde 

EXECUTIVE SECRETARY 



1 

1.0 INTRODUCTION 

This report presents the analysis of the candidates’ performance in the 

English Language subject for the Advanced Certificate of Secondary 

Education Examination (ACSEE) which was conducted in June 2020. The 

English Language subject was set in accordance with the English Subject 

syllabus of 2010 and the English Language Examination Format of 2019. 

The examination consisted of two papers, namely 122/1 English Language 1 

and 122/2 English Language 2. Each paper had a total of eight questions 

which were distributed across sections A and B. Section A had four 

questions and the candidates were required to answer all the questions in 

that section. English Language 2 also consisted of two sections, A and B. 

The candidates were required to answer all the questions in that section. 

Each question weighed ten (10) marks, making a total of forty (40) marks. 

Section B of both papers had four questions. Candidates were required to 

answer three questions, of which two questions (2) in each paper were 

compulsory. Each question weighed twenty (20) marks, making a total of 

sixty (60) marks. 

The candidates’ performance analysis in each question is presented by 

indicating the requirements of each question, the expected responses, how 

the candidates responded and the explanations for the candidates’ responses. 

Samples of responses extracted from candidates’ scripts have been presented 

in order to show how the candidates responded in relation to the demands of 

each item. 

The analysis of candidates’ performance in each item focuses on the 

percentage of candidates with good performance, ranging from 12 to 20 

marks, average performance, ranging from 7 to 11 marks and weak 

performance, ranging from 0 to 6 marks. 

The three categories of performance are also used in the analysis of the 

candidates’ performance per topic. If the performance of the candidates 

ranges from 60 to 100 per cent, it is considered good and it is presented by a 

green colour; from 35 to 59 per cent is average performance which is 

presented by yellow colour, and from 0 to 34 per cent is weak performance 

which is presented by the red colour. 

The candidates’ performance in each topic has been summarised in the 

Appendix. 
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2.0 ANALYSIS OF EACH QUESTION IN ENGLISH LANGUAGE 1 

2.1 SECTION A 

This section consisted of four questions. Each question carried 10 marks, 

making a total of 40 marks. The candidates were required to answer all the 

questions in this section. 

2.1.1 Question 1: Functions of Human Language 

The candidates were given five utterances and they were required to mention 

and explain two functions which could be expressed simultaneously by each 

of the given utterances. The following were the utterances: 

(a) We are hungry. 

(b) I love this movie so much. 

(c) Nice day, my love! 

(d) What is the tractor doing? 

(e) Love you, mummy!  

The question was attempted by all 23,873 (99.5%) candidates, out of which 

53.1 per cent scored from 6 to 10 marks, 31.6 per cent scored from 4 to 5 

marks. Only 15.3 per cent scored marks ranging from 0 to 3. The analysis 

shows that the overall candidates’ performance in this question was good 

because 84.7 per cent scored from average to good. The candidates’ 

performance in this question is summarised in Figure 1. 

 
Figure 1: Candidates’ Performance in Question 1. 
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The 53.1 per cent of the candidates with high marks in this question 

demonstrated mastery of the topic, ‘Introduction to Language’ and its 

functions. They differentiated the functions of language from other concepts 

of human language such as the characteristics, theories of origin of 

language, language planning and policy and the significance of language. 

They explained the two functions which could be expressed simultaneously 

by each of the given utterances as explained in the following: 

(a) We are hungry.  

The candidates who scored high marks in this item knew that the 

utterance serves as a request for food. Apart from that, they 

recognised two simultaneous functions expressed, which are, 

directive and conative function. It is a directive function since it 

instructs commands or requests for food. It performs a conative 

function since it involves or engages the addressee directly that they 

feel hungry. Other candidates explained the alternative functions that 

are expressed by this utterance such as informative, referential, 

heuristic and communicative functions. 

(b) I love this movie so much. 

The candidates with high marks in this item were aware that the 

utterance expresses personal feelings or opinions since it reports or 

expresses the personal feelings, emotions or attitudes of the speaker 

that he or she loves the particular movie. Alternatively, some 

candidates explained other functions that are performed by the 

utterance such as informative, referential, heuristic and 

communicative function. 

(c) Nice day, my love! 

In this utterance, the candidates were aware that the utterance does 

not communicate any content message rather than establishing social 

relationship with others. Therefore, they realised that it serves as 

phatic or interactional function since it is used to for the sake of 

interacting with others. Furthermore, some candidates explained the 

alternative functions of this utterance such as expressive or personal 

function as it communicates feelings towards the addressee by 

wishing him or her a good day. 
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(d) What is the tractor doing? 

The candidates knew that the utterance communicates new knowledge 

about the environment, object or concept. Therefore, the utterance 

serves as informative or heuristic function since it requires 

information from the addressee. Some candidates explained other 

functions such as expressive and emotive function because it 

expresses feelings or opinions about the tractor.  

(e) Love you, mummy! 

The candidates who got the question right knew that the utterance 

serves as phatic or interactional function since it maintains social 

contacts between the speaker and the receiver. Alternatively, other 

candidates discussed it as communicative or interactional function 

because it communicates personal feelings towards the addressee. 

Extract 1.1 is a sample of a correct response from a candidate who 

explained two functions which could be expressed simultaneously by 

each of the given utterance. 
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Extract 1.1: A sample of a candidate’s correct response. 

The analysis shows that the 15.3 per cent of the candidates with poor 

performance failed to explain two functions which could be expressed by the 

given utterances. Some of the candidates understood that all five utterances 

should be explained using two functions of language instead of two 

functions per each utterance. It was further observed that the candidates who 
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scored low marks failed to identify the correct functions expressed by a 

particular utterance. Extract 1.2 is a sample of an incorrect response. 

 
Extract 1.2: A sample of a poor response.  

Extract 1.2 is a sample of response from a candidate who mentioned the 

functions of language without providing explanations. The candidate was 

required to explain the two functions expressed by each of the utterances, for 

example, in (a) the utterance serves as a request for food - Directive/ 

Conative function. The sentence also gives the listener information about us, 

hence it serves as Informative/Referential/Heuristic/ Communicative 

function.  

2.1.2 Question 2: The Uses of the ‘-ing’ Morpheme in English Language 

The question had two parts, (a) and (b). In part (a), the candidates were 

required to explain how the morpheme “-ing” is used in English language by 

using five (5) points with appropriate examples.  

In part (b), the candidates were instructed to identify the words written in 

short forms and to write them in long forms or in full words based on the 

memo provided. The following was the memo given: 

(b) Write the following memo from the Managing Director to a group of 

workers in an office into full words: 

Memo from: Mr. Mabala (MD) 

To:                All staff 

Date:           3
rd

 Oct. 2013 

Ref:             04056/DC 
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May I remind you that all new Lab equipment should be registered with 

store and supplies Room (ext. 2683). NB: new items must be reported to 

the office before 17 hours on the last day of the mouth of purchase, i.e. 

within the current budgeting month. All A/C numbers must be recorded. 

The question was attempted by 23,926 (99.7%) candidates, out of which 

92.8 per cent scored from 0 to 3, 7.0 per cent scored from 3.5 to 5.5 marks 

and only 0.2 per cent scored marks ranging from 6 to 9. The analysis shows 

that the overall candidates’ performance in this question was weak because 

92.8 per cent scored marks below average. The performance is summarised 

in Figure 2. 

 
Figure 2: Candidates’ Performance in Question 2. 

The candidates who got high marks in this question were 0.2 per cent. In 

part (a), the candidates demonstrated their skills on grammar and structure in 

English Language. They managed to explain the uses of the morpheme “-

ing” in English language with examples. Some of the responses provided 

were: 

(i) The “-ing” particle is to indicate present continuous or progressive 

aspect of a verb.  For example: “She is dancing”. The “–ing” 

morpheme in this sentence shows that someone is dancing and the 

action is still going on. 

(ii) Apart from that, the “-ing” morpheme can be used as a gerund (verb 

noun) when it is attached to a verb. For example, “Shouting loudly is 
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awkward”. In this sentence, the verb “shout” when attached to the “-

ing” forms a gerund at the beginning of a sentence. 

(iii) The “-ing” morpheme can also be used as an adjective. For example, 

“It was a very exciting dance.” The adjective tells more about the 

noun “dance” This is because, when a compound is formed, the first 

word or root modifies the second one. 

(iv) The “-ing” morpheme is used as a pure noun, for example, 

“Drinking too much is harmful”.  The word “drinking” acts as the 

noun of the sentence. 

(v) The “-ing” morpheme is used in forming compounds, for example, 

“We are going to the swimming pool.” 

Extract 2.1 is a sample of a response from a candidate who scored high 

marks. 

 
Extract 2.1: A sample of correct responses. 

The analysis indicates that candidates who scored high marks in part (b) 

were aware of the words which were written in short forms and wrote them 



9 

in full words or in long forms. They demonstrated knowledge and ability in 

word formation process and they differentiated the clipped words from 

abbreviations, acronyms, or from any word formed through any word 

formation process. Some of the responses provided by one of the candidates 

were: 

Memorandum from: Mister. Mabala (Managing Director) 

To:                All staff 

Date:           The third of October, 2013 

Reference:             04056/DC 

May I remind you that all new Laboratory equipment should be registered 

with store and supplies Room (extension. 2683). Please Note/Nota Bene new 

items must be reported to the office before 17 hours on the last day of the 

month of purchase, that is, within the current budgeting month. All Account 

numbers must be recorded. 

The analysis shows further that the candidates with low marks in question 2 

(a) failed to adhere to the requirements of the question. The question 

required the candidates to explain the uses of the “-ing” morpheme in 

English language, but one of the candidates wrote it as the types of tenses, 

functions of inflectional morpheme “-ing” and the subsystems of human 

language. The candidate wrote that the morpheme ‘-ing” is used to show 

gender and comparison. The following extract demonstrates poor responses 

from one of the candidates who misinterpreted the requirements of the 

question. 
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Extract 2.2: A sample of a candidate’s incorrect response. 

Extract 2.2 shows the uses of “-ing” in phonology, morphology, semantic, 

spelling and grammar instead of explaining the uses of the morpheme “-ing” 

in English language with examples. 

Furthermore, there were some candidates who wrote their own memos 

instead of rewriting the given memo according to the given instruction. 

These candidates demonstrated lack of knowledge on word formation 

process and the study of morphology in general. Some candidates just 

copied the memo as it is in the question, as seen in Extract 2.3. 

 
Extract 2.3: A sample of an incorrect response. 



11 

2.1.3 Question 3: Writing Normal Spellings from Phonemic Transcription 

The question had parts (a) and (b). In part (a), the candidates were required 

to write each of the phonemically transcribed words in normal spellings. The 

transcribed words were: 

(i) /si briz/  

(ii) /kwin bi/  

(iii) /juzd kaz/  

(iv) /skul dets/  

(v) /bi bi si njuz/  

In part (b), the candidates were required to apply the knowledge and ability 

of spoken English to explain how stressing or emphasising five different 

words in the given sentence may convey different information or meaning. 

The sentence was: 

“He isn’t flying to London tomorrow.” 

The question was attempted by 23,794 (99.1%) candidates, out of which 

84.4 per cent scored from 0 to 3 marks, 12.3 per cent scored from 4 to 5 

marks and only 3.3 per cent scored marks ranging from 6 to 10. The analysis 

shows that the overall candidates’ performance in this question was weak 

since 84.4 per cent scored below average. The performance of candidates in 

this question is summarised in figure 3. 

 
Figure 3: Candidates’ Performance in Question 3. 

The analysis shows that 3.3 per cent of the candidates had high marks in this 

question. They were able to read, understand and write the phonemically 

transcribed words in normal English Language spellings. They showed their 



12 

ability in pronunciation which enabled them to recognise the phonemically 

transcribed English words. Some of the correct responses from one of the 

candidates are provided as follows: 

(i) /si briz/ = sea breeze 

The candidates with high marks in this part demonstrated their ability 

in pronunciation of phonemes, particularly in vowel phonemes. They 

were able to differentiate between long and short vowels as well as 

monophthongs and diphthongs. They knew that the sequence of two 

vowels or vowel clusters of “ea” and “ee” in “sea” and “breeze,” 

respectively, are replaced by the long vowel sound /i/ as they take a 

long time to pronounce. 

(ii) /kwin bi/= queen bee 

The candidates who scored high marks in this part showed their 

knowledge on English phonemes; that is, vowel and consonant 

phonemes.  They were aware that in English language pronunciation, 

the consonant sound “q” is pronounced as /k/ followed by the sound 

/w/. They demonstrated their skills that some sequence of consonants 

or vowels can be replaced by single sounds in pronunciation. That is 

why they managed to realise that the vowel cluster “ee’ and ‘ee” are 

replaced by the long vowel sound /i/. 

(iii) /juzd kaz/ = used cars 

The analysis shows that, the candidates with high marks in this part 

knew that the vowel sound “u” at the initial position of a word is 

preceded by the consonant sound /j/. Apart from that, they showed 

their knowledge in the place and manner of articulation which 

enabled them to know that when the sound /s/ is preceded by the 

voiced sound, it will be pronounced as /z/. In this question, the 

consonant sound /s/ is preceded by the vowel /u/. Furthermore, they 

were able to understand that, in English language, the consonant “c” 

is replaced by the sound /k/ in spoken language. Lastly, they realised 

that, the consonant /s/ sounds as /z/ because it is preceded by the 

vowel sound. 

(iv) /skul dets/ = school debts 

The candidates who got this part right demonstrated their knowledge 

and skills on pronunciation of vowels and consonants in English 

language. They were able to understand that, some consonant and 

vowel clusters or sequences in English language are replaced by 

single sounds. For example, the consonant cluster -ch- and the vowel 
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cluster -oo- in the word “school” are replaced by single sound /k/ and 

/u/, respectively. Furthermore, they were able to differentiate the 

audible consonants from the silent ones. For example, the word 

“debts,’ consists of a dump or silent consonant “b,” which goes 

unheard in spoken discourse. 

(v) /bi bi si njuz/ = BBC news 

The candidates with high marks in this part demonstrated their ability 

to understand the pronunciation of English phonemes. They were able 

to differentiate the sound /b/ from other English consonant phonemes. 

They differentiated short vowels from long ones. For example, all 

vowels used are long vowels because they take a long time to 

pronounce. Extract 3.1 is a sample of a correct response from one of 

the candidates who scored high marks. 

 
Extract 3.1: A sample of correct answers from one of the candidates. 

The analysis indicates that candidates with high marks in part (b) had good 

knowledge in spoken English which enabled them to explain clearly how 

stressing or emphasising different words in “He isn’t flying to London 

tomorrow” to convey various information or meanings. Some of the correct 

responses from the candidates are explained in the following: 

The candidates who emphasised the word “he” understood that the pronoun 

“he” implies that it is somebody or someone else who is flying to London 

and not “him,” while when the stress is shifted to the word in means that 

“isn’t” the man is not flying or doing it anymore. 

Apart from that, when the word “flying” is emphasised, the sentence means 

that ‘he’ is not flying but ‘he’ may get there using other means of transport 

such as water or land transport. However, when the word “London” is 

stressed it implies that he could be taking a different location and not 

necessarily London. Furthermore, when the emphasis is moved to the word 
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“tomorrow” the sentence could mean that the man will be travelling, but not 

the following day, but some other day. Finally, by emphasising the word 

“to” the sentence could mean that ‘he’ is flying from or passing by London, 

not to London, as Extract 3.2 illustrates. 

 
Extract 3.2: A sample of a correct response  

The candidates who scored low marks in part (a) had no knowledge and 

skills on pronunciation of vowels and consonants in English language. They 

did not understand that, some consonant and vowel clusters or sequences in 

English language are replaced by single sounds. They also could not write 

the phonemically transcribed words in normal writing. 

Furthermore, the analysis shows that the candidates with low marks in part 

(b) failed to understand the requirements of the question. They lacked the 

knowledge on semantics and the study of meanings in general which would 

help them to understand the requirements of the question. Some of these 

candidates discussed the roles of stress in English language contrary to the 

question requirements. Extract 3.3 is a sample of a poor response from one 

of the candidates. 

 
Extract 3.3: A sample of an incorrect response. 
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In Extract 3.3, the candidate misinterpreted the question and thought that 

he/she was required to copy the given sentence five times instead of writing 

the roles of stress shifting it to the five different words in the given 

sentences. 

2.1.4 Question 4: Translating the Passage from English to Kiswahili 

Language Using Communicative Translation 

The candidates were required to translate the passage from “A Man of the 

People” by Chinua Achebe into Kiswahili language by using communicative 

translation method. In this method, the candidates as translators were 

required to use any alternative meanings of words to make sure that the 

message is sent to their receivers in the target language. The following was 

the passage: 

“…. Some men have no shame at all. Can’t you go and look for your 

own woman instead of sneaking around here? My father has told you 

to stop coming here, or have you come to pick up some gossip for your 

friend Mrs. Nanga? A big fellow like you should be ashamed of 

gossiping like a woman. Errand boy, go and tell her I will marry Chief 

Nanga. Let her come and jump on my back if she can. As for you, why 

don’t you go back to your prostitute woman in Bori instead of wasting 

your time here? I have been respecting you for the sake of Chief 

Nanga, but if you make a mistake of coming here again I will tell you 

that my name is Edna Odo.” pg 129. 

The question was attempted by all the 23,895 (99.6%) candidates, out of 

which 75.4 per cent scored from 6 to 10, 17.7 per cent scored from 4 to 5.5 

marks and only 6.9 per cent scored marks ranging from 0 to 3. The analysis 

shows that the overall candidates’ performance in this question was good 

because 93.1 per cent scored an average of 35 per cent and above. The 

performance is summarised in Figure 4.1. 
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Figure 4: Candidates’ Performance in Question 4 

The analysis shows that the candidates with high marks in this question were 

75.4 per cent. These candidates had good command of both English and 

Kiswahili languages which enabled them to translate the given passage by 

using communicative translation technique. Apart from that, the candidates 

were knowledgeable in translating since they were able to change the 

information presented in English to Kiswahili. Furthermore, they 

demonstrated ability and language skills in understanding the passage 

particularly the vocabulary used. One of the candidates translated the 

passage as follows: 

“Watu wengine hawana aibu kabisa. Kwa nini usiende kutafuta mwanamke 

wako badala ya kuja hapa kisirisiri? Baba yangu alishakukataza kuja hapa 

au umekuja kuchukua umbea umpelekee rafiki yako mke wa Chifu Nanga? 

Mwanaume mzima kama wewe huoni iabu kuwa mbea kama mwanamke. 

Kuwadi wewe; nenda kamwambie kuwa nitaolewa na Chifu Nanga. Tena 

mwambie aje anipande mgongoni kama anaweza. Na kwa upande wako, 

kwa nini usiende kwa malaya wako wa Bori badala ya kuja kupoteza muda 

wako hapa? Nimekuwa nikikuheshimu kwa ajili ya Chifu Nanga, lakini 

ukiendelea kuja hapa tena, utanijua kuwa naitwa Edna Odo.”  

Extract 4.1 is a sample of good responses from a candidate who translated 

the given English language text to Kiswahili by using the communicative 

translation method correctly. 
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Extract 4.1: A sample of a correct translation. 

Furthermore, some candidates (6.9%) lacked the writing skills, hence they 

failed to use the correct punctuation marks in their translated texts, thus they 

scored low marks. Some candidates failed to understand English vocabulary 

such as “errand” and “sneaking” which made the translated text sound 

inappropriate in the target language. Extract 4.2 is a sample of a response 

from a script of a candidate whose translated text has a different meaning 

from the original text. 

 
Extract 4.2: A sample of a distorted translation.   

In Extract 4.2, the candidate failed to understand a passage in English 

language due to lack of language skills. Due to this reason, the translated 

text had different meaning from that of the original language. 
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2.2 SECTION B 

This section consisted of four questions. The candidates were required to 

answer three questions. Two of the four questions were compulsory. Each 

question weighed 20 marks. 

2.2.1 Question 5: Kiswahili as the Medium of Instruction in Tanzania 

In this question, the candidates were required to use eight points to support 

the argument that Kiswahili should now be used as the medium of 

instruction in Tanzania from primary to university levels of education. 

This question was compulsory; hence, it was attempted by 23,951 (99.8%) 

candidates. Among them, 63.6 per cent scored from 12 to 20 and 33 per cent 

scored from 7 to 11 marks. Only 3.4 per cent scored marks ranging from 0 

to 6. The analysis shows that the overall candidates’ performance in this 

question was good because 96.6 per cent scored an average of 35 per cent 

and above. The performance is summarised in Figure 5. 

3.4

33.0

63.6

0.0

10.0

20.0

30.0

40.0

50.0

60.0

70.0

80.0

90.0

100.0

0 - 6 7 - 11 12 - 20

P
e
rc

e
n

ta
g

e
 o

f 
C

a
n

d
id

a
te

s

Scores

 
Figure 5: The Candidates’ Performance in Question 5 

The candidates with good performance in this question (63.6%) 

demonstrated ability in writing skills which helped them to present and 

defend their arguments that Kiswahili should be used in all levels of 

education in Tanzania. These candidates divided the question into three 

parts, namely introduction, main body and conclusion. In the introductory 

part, they defined the term language as a medium of instruction that is used 
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in communication and in giving instructions in examinations and other 

academic activities. 

In the main body, they described eight (8) points to support the view that 

Kiswahili should be used as the medium of instruction from primary to 

university levels of education. The candidates had the view that since 

Kiswahili is the language that is well-known to both teachers and students, it 

will be easy to pass knowledge and skills to learners. 

They also argued that Kiswahili is widely spread all over the country to the 

extent that it quickens the learning environments. Not only that but also 

research findings indicate that children learn better in their mother tongue or 

indigenous languages. They also supported their arguments by referring to 

the psycholinguistic studies that mother tongue education is better for a 

child’s cognitive development, and hence, Kiswahili should be taught in 

Tanzanian schools for full cognitive development of the learners. This 

means that if they are taught in the language other than their first languages 

they are subjected to fail. Therefore, using Kiswahili as the medium of 

instruction will provide students opportunities to acquire knowledge, skills, 

attitudes, and understanding in various subjects. 

In addition, they proposed that Kiswahili is the language for social and 

political unity, hence should be emphasised for national unity and cultural 

identity. Therefore, we ought to teach using it so as to cherish our heritage, 

instead of using English which is a foreign language. Apart from that, the 

candidate wrote that Kiswahili is one of the International languages; 

therefore, using it will enable us to advertise, trade, and communicate with 

people all over the world. 

They also defended their points that there is no language that is endowed 

with scientific knowledge. Therefore, it is a myth to believe that English or 

any other foreign language is the language of science and technology. Any 

language including Kiswahili can be the language of science and 

technology. Therefore, we should use Kiswahili as a medium of instruction 

in all levels of education in Tanzania. 

In the conclusion, they summarised the discussion that as an independent 

nation we should use Kiswahili as a symbol of unity, identity, and cultural 

heritage to differentiate ourselves from other nations. Extract 5.1 is a sample 

response from a candidate who managed to discuss eight points to support 
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the use of Kiswahili as the medium of instruction from primary to university 

levels. 

 
Extract 5.1: A sample of a correct response from one of the candidates. 

The analysis shows that some candidates (3.4%) performed poorly in this 

question. Some of these candidates did not understand the requirements of 

the question. They discussed the factors that make a language international 

or national instead of proposing the use of Kiswahili in all levels of 
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education in Tanzania. Extract 5.2 is a sample response from a candidate 

who wrote the factors which make a language international, vowels and 

stress in Kiswahili language. 

 
Extract 5.2: A sample of incorrect answers. 
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2.2.2 Question 6: Writing a Friendly Letter 

In this question, the candidates were required to write a friendly letter to 

their pen pal in South Africa. In the letter, the candidates were required to 

describe themselves, telling the new friend about their country, family, job 

and hobbies. The writer should sign his or her name as Mwema and the 

receiver should be called Bahati. 

The question was a compulsory one and it was attempted by 23,791 (99.1%) 

candidates. Among them, 32.2 per cent scored from 12 to 20 marks and 49.6 

per cent scored from 7 to 11marks. Only 18.2 per cent scored marks ranging 

from 0 to 6. The analysis shows that the overall candidates’ performance in 

this question was good because 81.8 per cent scored an average of 35 per 

cent and above. The performance is summarised in Figure 6. 

 
Figure 6: The Candidates’ Performance in Question 6 

The candidates with high marks in this question were 32.2 per cent. They 

wrote a friendly letter containing all the necessary components required. The 

candidates who performed well demonstrated their ability in writing skills 

which enabled them to compose a friendly letter. Apart from that, they were 

able to differentiate a friendly letter from an official letter and their 

components. They wrote friendly letters which had the following 

components: 

(i) The sender’s address at the top right-hand corner, with proper 

punctuations (a comma at the end of each line, with a full stop at the 

end of the last line). 
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(ii) Date beneath the address, with a full stop at the end. 

(iii) Salutation (Dear Bahati, Dear friend, Hi Bahati, etc.) on the left side 

of the page, below the date line, near the margin, with a comma at the 

end of the receiver’s name. 

(iv) Main body five points (ie about self, country, family, job and hobbies) 

(v) Complimentary closure (yours, sincerely yours, with love from, etc.) 

starts just to the right of the page centre with a comma at the end of 

the leave-taking. 

(vi) Sender’s name (Mwema) beneath the complementary closure. 

Extract 6.1 is a response from a candidate who wrote the friendly letter 

following all the required components of the letter. 

 
Extract 6.1: A sample of a correct response. 
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Furthermore, the analysis shows that, the 18.2 per cent of the candidates 

who scored low marks in this question failed to understand the demands of 

the question. They were attracted to write the official letters due to the 

misconception of the word “pen pal”. Most of them thought it is a name of a 

company, while others considered it as a name of a person they were writing 

to. Apart from that, some candidates failed to use the correct punctuation 

marks in the senders’ address, while others did not punctuate the senders’ 

address at all. Not only that but some candidates also used Kiswahili in 

writing the senders’ box address, as “S.L.P” instead of “P.O. Box” in 

English language. Extract 6.2 is a sample of responses from a candidate who 

wrote an official letter instead of a friendly letter. 

 
Extract 6.2: A sample of an incorrect answer. 

This candidate lacked the knowledge to differentiate a friendly letter from an 

official letter to the extent that he/she wrote an official letter requesting for a 

job instead of a friendly letter to a friend. Furthermore, some candidate 

failed to distinguish a friendly letter from a Curriculum Vitae (CV). Some of 

the candidates wrote their CV’s instead of writing friendly letters, as seen in 

Extract 6.3. 
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Extract 6.3: A response from a candidate who provided irrelevant answers.  

2.2.3 Question 7: Listening Techniques in Communication 

In this question, the candidates were required to propose eight listening 

techniques that one needs to observe in order to become an effective listener. 

This question was the best performed in this paper. It was attempted by 

18,967 (79%) of the candidates, of which 70.9 per cent scored from 12 to 20 

marks and 27.2 per cent scored from 7 to 11 marks. Only 1.9 per cent scored 

marks ranging from 0 to 6. The analysis shows that the overall candidates’ 

performance in this question was good because 98.1 per cent scored an 

average of 35 per cent and above. The performance is summarised in Figure 

7. 
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Figure 7: The Candidates’ Performance in Question 7. 

The 70.9 per cent of the candidates who scored high marks in this question 

demonstrated their ability to differentiate listening skills from other 

language skills such as writing, speaking and reading skills. They identified 

the listening skills which one needs to observe in order to become an 

effective listener. Apart from that, they followed the rules of essay writing 

by dividing their work into the introduction, the main body and the 

conclusion. 

In the introductory part, they defined the term listening or effective 

listening. In the main body, the candidates discussed some techniques that 

need to be observed in order for one to become an effective listener and in 

the conclusion part, the candidates summarised the question by showing 

how listening is an important part of day to day communication. 

The candidates proposed that, in order for one to become an effective 

listener, one must have the desire to listen and show interest in the topic at 

hand. Listening will be effective if the listener has interest in what the 

speaker is talking about. In order to become an effective listener, the 

candidates proposed that one is supposed to be open-minded and willing to 

learn new ideas; that is, one is required to be open to different points of 

view, different ways of speaking, to be open-minded, to stop judging the 

speaker and the matter at hand before hearing it, not to interrupt when one is 

speaking and the listener should not justify one’s thoughts or beliefs on the 

matter before listening. They suggested that one has to be patient while 

trying to figure out what the speaker is trying to say. This is because 
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effective listening should be free from interruptions and pre-supposed 

solutions.  

In order for a person to become an effective listener, one must avoid 

prejudice or biasness on the speaker’s part. This will help the listener to 

distinguish between facts and opinions. To become an effective listener, 

avoid being an obstacle and reduce distractions such as noise, stress, and 

tiredness by sitting far from a talkative person or being near to the speaker.  

Also, in order to be an effective listener, one has to be quiet. This is because 

the fundamental rule of listening is to be attentive while the speaker is 

talking. 

The listener should avoid interrupting while the other person is saying or 

talking to others. The duty of the listener is to understand. In order to 

understand, one is supposed to listen until the speaker has finished. 

Furthermore, in order for one to become an effective listener, one must 

develop the behaviour of predicting and asking questions in order to keep 

oneself alert. One will be able to predict the main points, to distinguish 

between facts and opinions as well as the point of view of the speaker. The 

listener must postpone or withhold judgement. This means that, in order for 

one to become an effective listener, one must be neutral and never 

concentrate on the speakers’ appearance because it may lead to wrong 

judgement. 

In addition to that, a listener should be keen and observant so as to capture 

both the obvious verbal and non-verbal clues that will help him or her to get 

information, message and intention of the speaker. Extract 7.1 is a response 

from a candidate who correctly wrote the eight listening techniques that one 

needs to observe in order to become an effective listener. 
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Extract 7.1: A sample of a candidate’s correct answer. 

The candidates who scored low marks in this question (1.9%) did not adhere 

to the requirements of the question. They had poor language skills thus they 

provided irrelevant responses, for example, one of the candidates provided 

listening techniques contrary to the requirement of the question. The 

candidate wrote: 

“Appreciative technique, therauptical listening, critical listening, 

discriminative listener, comprehensive listening, intensive listening 

and optical listening. Another one wrote on the types of listening such 

as; epmpathy listening, sympathic listening, informative listening and 

biased listening. 

2.2.4 Question 8: Speech Writing 

In this question, the candidates were required to present a speech in a debate 

club to support the motion “Corruption is Inevitable in Tanzania Today.” 
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This question was attempted by 5,008 (20.9) per cent of the candidates. 

Among them, 38.5 per cent scored from 12 to 20 marks while 44.2 per cent 

scored from 7 to 11 marks. Only 17.3 per cent scored marks ranging from 0 

to 6 marks. The analysis shows that the overall candidates’ performance in 

this question was good because 82.7 per cent of the candidates scored an 

average of 35 per cent and above. The performance is summarised in figure 

8. 

 
Figure 8: The Candidates’ Performance in Question 8.1. 

This was the most avoided question in this paper as only few candidates 

5,008 (20.9%) attempted it. The analysis indicates that the candidates were 

not so sure of the requirements of the question, that is, whether to write a 

speech or a debate. 

The candidates with good performance (38.5%) in this question 

demonstrated their language skills particularly speaking skills that enabled 

them to present their points clearly. They managed to distinguish between 

the proposing and opposing sides of the debate. Apart from that, they 

distinguished speech from other forms of organising and presenting 

materials, such as presentations, essays, lectures, compositions or debates. 

They organised their presentations into three parts, namely the introduction, 

the main body and the conclusion. In the introductory part, the candidates 

saluted the members following the seniority, such as the Chairperson, 

secretary, principal speakers, time keeper, members of the floor, ladies and 

gentlemen. They also introduced themselves, revealing their stand on the 

issue at hand and introducing the motion to the members of the floor. 
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In the main body, they discussed how corruption is inevitable in Tanzania 

by showing the root causes of corruption, the practice of corruption and how 

it can be solved, followed by a valid conclusion. 

The candidate concluded by showing the effects of corruption in the society 

by showing how people are denied their rights. Extract 8.1 is a response 

from a candidate who defended and supported the motion using eight points, 

correctly. 
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Extract 8.1: A sample of a candidate’s correct response. 

The analysis show further that the 17.3 per cent of the candidates who 

scored low marks in this question did not adhere to the requirements of the 

question. The candidates were required to show how corruption is inevitable 

in Tanzania, but some of the candidates wrote on how the country could 

help people avoid being involved in corruption, such as provision of civil 

education, mass employment, having good leadership and combating issues 

that lead to poverty. Others wrote on how corruption brings about negative 

impact such as underdevelopment of a country. They wrote on how 

corruption can lead to immorality of people in the society, how uneducated 

people can get employment while the educated ones remain unemployed. 

They also wrote how corruption causes political instability. Extract 8.2 is a 

sample of a response from a candidate who wrote on how corruption can be 

combated. 
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Extract 8.2: A sample of incorrect answers. 

 

3.0 ANALYSIS OF EACH QUESTION IN ENGLISH LANGUAGE 2 

3.1 SECTION A  

This section consisted of four questions. Each question carried ten (10) 

marks, making a total of forty (40) marks. The candidates were required to 

answer all the four questions.  

3.1.1 Question 1: Explaining Literary Terms  

In this question, the candidates were required to explain the terms as they 

are used in literature: 

(a) Idiom (b) Synecdoche 

(c) Foreshadowing (d) Personification 
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(e) Symbolism  

The question was attempted by 23,902 (99.6%) candidates. Among them, 

42.2 per cent scored from 0 to 3 marks, 38.3 per cent scored from 4 to 5 

marks and 19.5 per cent scored 6 to 10 marks. The analysis shows that the 

overall performance of the candidates in this question was average because 

57.8 per cent scored from average and above. The performance is 

summarised in Figure 1. 

 
Figure 9: The candidates’ performance in question 1 

The candidates who scored high marks in this question provided the 

following response; (a) an idiom was explained as an integral part of 

language that adds beauty and charm to language, for example, bite the 

bullet. (b) Synecdoche is used to express a part for the whole or the whole 

for the part, for example, our teacher managed to get ten heads at the tuition 

centre. (c) Foreshadowing was explained as a figure of speech that gives a 

hint or suggestion within a story as a clue for what will take place later in 

the story, for example, when one person predicts what will happen to 

another person at a later stage in life. (d) Personification was explained as a 

technique that is used to make inanimate things behave as human beings, for 

example, our eyes shall be speaking of revolt, and (e) symbolism was 

explained as a technique that uses objects, symbols and people to represent 

or stand for something that is abstract, for example, there is blood 

everywhere. Blood is a symbol that represents death or danger. Extract 9.1 

is a sample of correct answers. 



35 

 
Extract 9.1: A sample of a response with correct answers. 

In extract 9.1, the candidate provided brief explanations on five literary 

terms. The candidate was able to follow the requirements of the question 

thus provided relevant examples. This indicates that the candidate had 

adequate knowledge on the given literary terminologies. 

The candidates who scored low marks (42.2%) in this question could not 

give brief explanations with clear examples to the given literary terms 

because they did not have adequate knowledge on the basic concepts in 

literature. There were some candidates who provided explanations which 

were not correct. For example, one of the candidates wrote that an idiom is 

the use of figurative language. This candidate knew that an idiom is a figure 
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of speech, but did not know that figure of speech and figurative language are 

used differently in an artistic work. 

Some candidates regarded synecdoche as a poem while in actual fact it is a 

figure of speech. This shows that these candidates were not familiar with the 

term synecdoche. One of the candidates for example, explained that 

synecdoche is a scene in a play. Some candidates did not know the 

difference between foreshadowing and flashback, as a result they wrote how 

foreshadowing is used instead of flashback. Extract 9.2 illustrates incorrect 

responses from one of the candidates. 

 
Extract 9.2: A sample of a candidate’s incorrect responses.  

In Extract 9.2, the candidate explained foreshadowing as the use of 

flashback in order to make a person clear. Additionally, this candidate did 

not know the difference between genres of literature and literary techniques, 

as a result, the candidate explained an idiom as a story which is not clear 

and another as the type of poem that is done in a poem. This indicates that 

those candidates did not know how idioms are used in a literary work. In the 

case of foreshadowing, some candidates explained it as stories which are in 

literary works, while others regarded it as the type of dialect. This shows 

that the candidates did not know that foreshadowing is a technique and not a 

story or a dialect. 
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3.1.2 Question 2: Writing the Dialogue 

This question required the candidates to: 

Imagine that you work for a company and you happen to witness theft in 

your office which took place on Saturday soon after you had entered the 

office. You were held at gun point and demanded to hand over the keys to 

the boss’s office. You told them the boss was on leave and had left with his 

keys. They threatened you with a knife edge, hand cuffed you and then 

packed computers, printers and scanners into their bags and left. You took 

an initiative to inform the police by using your mobile phone. Write a 

dialogue of five items each between you and your friend Bahati who gets 

interested to know what happened. Use Upendo as your name. Address your 

friend as Bahati. 

This question was attempted by 22,297 (92.9%) of all the candidates who sat 

for this paper. Among these candidates, 56.7 per cent scored from 6 to 10 

marks, 27.7 per cent scored from 4 to 5 marks and only 15.6 per cent scored 

from 0 to 3 marks. The analysis shows that the overall performance of the 

candidates in this question was good because 90.1 per cent scored from 

average and above, as shown in Figure 10. 

 
Figure10: The performance of candidates in question 2 

The candidates who scored high marks in this question wrote a dialogue of 

five items by using the clues given from the question and the given names 

which are Upendo and Bahati. These candidates showed that they had 
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knowledge on how to write a dialogue and they had a good command of 

English language which enabled them to present their ideas clearly. 

These candidates used the correct names as was required. They used 

dialogue writing to discuss the events that took place and used correct 

punctuation marks. They also followed the requirements of the question. 

 
Extract 10.1: A sample of a candidate’s correct answer. 

In Extract 10.1, the candidate used an imaginary company to explain to her 

friend Bahati on what happened during that fateful day between her and the 

robbers while at the office. The candidate had a good command of English 

Language and used dialogue as was required. 

The analysis shows further that the candidates who scored low marks failed 

to write a dialogue of five items by using the given content and names which 

are Upendo and Bahati. This indicates that the candidates had no adequate 

knowledge in the area tested. These candidates demonstrated the following 

weaknesses: Some of these candidates failed to follow the instructions given 
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in the question as a result they created their own names. Others composed a 

dialogue that is irrelevant to the subject matter. Extract 10.2 is a sample of 

poor responses from one of the candidates. 

 
Extract 10.2: A sample response from a candidate with an incorrect answer. 

In extract 10.2, the candidate wrote a friendly letter instead of a dialogue. 

This candidate did not follow the requirements of the question. This could 

be attributed to poor mastery of the subject matter and lack of dialogue 

writing skills. 

3.1.3 Question 3: Reading and Analysing a Poem 

In this question the candidates were instructed to read the given poem and 

then answer the questions given in parts (a)-(g). 

GENTLY 

Brothers, break them gently. People used to live there. 

Those were not always mere mud walls to be bulldozed and 

And levelled down to make way for a new high way. 
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Heaven only knows what scars those walls now naked and bald bear; 

What secrets they hold of the dreams and doubts of those 

Who loved and hated within them. 

To them this was home. Here they came at night to their meagre meal; 

Here they hoped in wearied sleeplessness for better days 

that never come 

They were such ones as you, with their joys with frustrations. 

Then one day they were told to leave, to go and start from  

scratch elsewhere, rootless. 

They, like you, could not say no- you would be foolish to! Yet 

how lovingly and longingly, how tearfully they clung to those 

age-smeared walls, un able to unmoor. 

But do not let me upset you. Sentiment can not avail now. Be. 

Sides you have your daily wage to earn. You may break them down. 

Only, please, do try and be gentle. People used to live there. 

Questions 

(a) What is the tone of the poem? 

(b) Briefly comment on the title of the poem. 

(c) Which two figures of speech have been used in the poem? Give 

examples. 

(d) Briefly comment on the persona in the poem. 

(e) How is the structure of the stanzas of the poem? 

(f) What message do you get from the poem? 

(g) How can the poem be associated to the happenings in your society 

today? 

The question was attempted by 22,633 (94.3%) of the candidates, out of 

which 57.6 per cent scored from 0 to 3 marks, 26.1 per cent scored from 4 to 

5 marks and only 16.3 per cent scored marks ranging from 6 to 10 marks. 

The analysis shows that the overall candidates’ performance in the question 

was average because 59.6 per cent scored from 4 to 10 marks, as illustrated 

in figure 11. 
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Figure 11: The candidates’ performance in question 3. 

The candidates who scored high marks in this question (59.6%) had marks 

ranging from 4 to 10 marks. These candidates read and analysed the poem 

given and provided correct responses to the questions. In answering item (a), 

the candidates stated the tone of the poem as sad or sarcastic due to the 

unfair breaking of people’s houses. In item (b) the title of the poem provided 

by the candidates was that it was literal and direct as it reveals demolition of 

people’ houses. In item (c), the figures of speech which were analysed in the 

poem were such as metaphor as in ‘scars on walls’, personification as in 

‘walls are naked and bold’, Idiom, as in, ‘start from scratch’. 

In item (d), the candidates commented that the persona in the poem was a 

fellow worker because of the word brothers or observer who feels a pinch of 

the houses being demolished. In item (e), the poem has seven stanzas with a 

number of verses which vary. In stanza 1 to 4, the verses are three, while in 

stanza five they are five and in stanza 6 there is only one verse. In item (f), 

the message provided was that those who demolish people’s houses have to 

do it gently. In item (h), the candidates associated the poem with the 

happenings in the society as people’s houses are sometimes being 

demolished without any notice. This is seen in Extract 11.1, where the 

candidate realised that the title is literal/direct as it is on what the poem is all 

about; that people’s homes should be broken down gently. The candidate 

stated that the figures of speech that had been used are Metaphor as in ‘scars 

on walls’ and Personification as when ‘walls are said to have scars,’ ‘Walls 

are naked and bold,’ ‘Walls holding secrets’ and ‘Heaven only knows.’ 
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The candidates realised that the persona could be a fellow worker because of 

the word ‘Brothers’ or Observer who feels the pinch of the houses being 

demolished. They were able to realise that the poem has seven (7) stanzas at 

one to two to three verses and that its verses are irregular in length.  

The message to those demolishing the houses is to be gentle and show 

respect as those were valued by people. When these people are told to move 

by the authority, there is nothing they can do to the contrary because the 

authority has power. The candidates stated that the poem can be associated 

to the happenings in the society today. When roads are being constructed, 

people’s houses are demolished cruelly and other times without any notice. 
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Extract 11.1: A sample of a correct response from a candidate. 

The analysis indicates further that the 57.6 per cent of the candidates who 

scored low marks in this question provided incorrect responses because they 

could not comprehend the given poem. These candidates did not have the 

required knowledge and skills in the interpretation and analysis of poetry. 
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They therefore lacked skills on the basic concepts of poetry, such as title, 

figures of speech, persona, structure, message and relevance. Some of these 

candidates provided incorrect responses to all items which could not relate 

either to the poem or to the questions. For example, in answering this 

question, one of the candidates provided incorrect responses to item (b) and 

wrote that the title of the poem was ironical; another candidate commented 

that the title of the poem was sacrifice. This indicates that the candidates 

failed to relate the title and the content of the poem. 

Additionally, they did not know the difference between the term comment 

and suggest. In item (c), one candidate identified figures of speech such as 

personification and irony, but failed to provide verses to be used as 

evidence. Another candidate identified figures of speech such as 

exclamation and simile and provided incorrect verses to support the answer 

such as they like you. The candidate was attracted by the word like which is 

used in the definition of simile. This shows that the candidates under this 

category lacked adequate knowledge and skills on figures of speech.  

In item (d), one candidate commented that the persona in the poem is the 

people who live there. Another commented that the persona was a young 

boy. This shows that they knew the concept of persona, but they did not 

comprehend the poem. In item (e), one of the candidates stated that the 

structure of the poem was complete because, it contained two verses, while 

another stated that the poem had five stanzas with three verses. This 

indicates that they knew the concept of structure but they did not know how 

to count verses and stanzas in a poem. 

The analysis demonstrates that some candidates provided irrelevant 

responses contrary to the requirements of the question. They copied words 

from the poem and others from the question. For example, one of the 

candidates stated that the tone of the poem was drunkards, the title of the 

poem was commented as drunkenness, the figures of speech identified were 

levelled down to make way for a new way. They also provided responses that 

do not relate to what the poem is about. Extract 11.2 is a sample of a poor 

response. 
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Extract 11.2: A sample of an incorrect response from a candidate. 

In Extract 11.2, the candidate wrote that the title is gentle instead of gently 

and the tone as happy one while people are sad because their houses are 

being demolished. The candidate seems not to have a good mastery of 

English Language and so wrote responses that were contrary to the 

requirement of the questions. The responses from this candidate suggest that 

the candidate had no knowledge on poetry analysis. This is shown when the 

candidate writes that the figures of speech used are image and satire which 

seems to be guess work as the figures of speech that have been used are 

imagery, personification and idiom. 

3.1.4 Question 4: Writing Distinctive Features of Plays  

This question required the candidates to write five significant features that 

make plays to be a unique genre. 

The question was attempted by 23,637 (98.5%) candidates, of which 47.9 

per cent scored from 6 to 10 marks, 28.8 per cent scored from 4 to 5 marks, 

and only 23.3 per cent scored marks ranging from 0 to 2. The data shows 

that the overall performance in this question was good because 76.7 per cent 

of the candidates scored from average to good, as seen in figure 4. 
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Figure 12: Candidates’ performance in question 4. 

The candidates who scored high marks ranging from 6 to 10 were 47.9 per 

cent presented their ideas and were able to write according to the demands 

of the question. They wrote that plays have an extensive use of stage 

directions that provide information about the character, mood, the usual 

notation of entrance and exits and the place of performance, dialogue, 

actions, stage directions, scenes and acts which have a strong influence on 

people because of the actions and events performed by actors or actresses, 

the involvement of imitations of the real-life events give the strongest and 

immediate impact to the audience and they have a stronger influence on 

people than other genres because people are attracted by actions, 

appropriateness of sound effects and the nature of the events performed.  

The candidates further argued that plays have the strongest and immediate 

impact to the audience as they are in the form of actions or performance and 

are characterised by actions which are carried out on stage by actors. These 

candidates realised that plays are primarily made up of dialogue and are 

constructed well so as to convey the message effectively and that plays 

involve imitations of the real life events and hence they are more 

meaningful. Extract 12.1 is a sample of a good response. 
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Extract 12.1: A sample of a correct response. 

The candidate’s response in Extract 12.1 shows that he/she answered the 

question according to the requirements of the question. The candidate was 

able to write five significant features that make plays to be a unique genre 

and added in the conclusion that although plays is unique, it still portrays the 

functions of literature which are to educate, entertain and criticise the 

society so as to create a better world. 

Further analysis shows that 23.3 per cent of the candidates with poor 

performance in this question provided features of novels and regarded them 

as unique features of plays. They also provided incorrect responses such as 

the use of characters and characterisation, the use of figures of speech that 

create beauty in literary works, the use of events which are well organised, 

the use of themes to convey message to the society, the use of imaginative 

characters and imaginative techniques. Other candidates used techniques 

such as characters, language, title and style, allusion, flash back, setting, 

euphemism and simile. Some of these are general features that can be found 

in other works of art such as novels. This is because a play or a novel must 

have themes, figures of speech and characters. Extract 12.2 is a sample of a 

poor response. 
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Extract 12.2: A sample response from a candidate with incorrect responses. 

Extract 12.2 illustrates a sample of incorrect responses from a candidate who 

did not understand the demand of the question, as a result provided 

irrelevant responses such as characterisation which can be human beings or 

animals, the use of figures of speech to create beauty such as barbarism, 

personification, hyperbole and that its events can be either real or unreal. 

The candidate also wrote about the use of themes and regarded them as 

unique features of plays, instead of features such as dialogue, stage 

direction, scenes and acts.  

3.2 SECTION B: Essay Questions 

This section consisted of four (4) questions, each carrying twenty (20) 

marks. The candidates were instructed to answer three (3) questions. 

Questions five (5) and eight (8) were compulsory. 

3.2.1 Question 5: Analysis of Plays 

In this question, the candidates were instructed to support the argument that 

sometimes an educated person might not be necessarily civilised by using 

two plays with four points from each. 

The question was attempted by 23,583 (98.3%) candidates. Among them, 

40.6 per cent scored from 0 to 6 marks, 33.6 per cent scored from 7 to 11 

marks and 25.8 per cent scored marks from 12 to 20. The analysis shows 

that the overall performance in this question was average because 59.4 per 

cent scored from average to good. 
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Figure 13: The performance of candidates in question 6. 

The candidates who scored high marks in this question introduced the 

question by defining the key terms such as education and civilisation and 

identified the two plays of their choice to be used in supporting the 

argument. 

In the main body, the candidates were able to use two plays of their choice 

to support the argument that an educated person might not be necessarily 

civilised. The candidates who used Betrayal in the City by Francis Imbuga 

provided the argument that Nicodemo who was educated person was 

uncivilised due to his action of planting drugs to Mosese’ car so as to make 

him arrested because of revealing the truth about dictatorship which existed 

in Kafira society. Thus, education did not help him to be civilised. The Boss 

who was educated tried to rape Regina. This shows that education which he 

acquired did not make him civilised. Tumbo who was educated betrays his 

people by not telling them about government evils, therefore education did 

not make him civilised. The candidates who used An Enemy of the People 

by Henrik Ibsen argued that Peter stockman who was educated and the 

mayor of the town did not care about the health of their people. They 

therefore made them contract dangerous diseases by not making 

reconstruction of spa baths whose water was contaminated. This indicates 

that education did not make him civilised. Mr Hovstad, the chief editor of 

the Herald, failed to print the article of Dr Stockmann that exposes the evils 

of people in the authority because of fear. This shows that education did not 

make him civilised. Mr Aslaksen who was educated did not side with Dr 

Stockmann in revealing the truth because of hypocrisy and fear. He instead 
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sided with Peter Stockman who was a corrupt leader. His education did not 

make him civilised.  

The candidates who used the play I Will Marry When I Want showed how 

Kioi, though he was educated, behaved like an uncivilised person because of 

his selfishness and corrupt ways of living. Kioi was only interested in things 

that would benefit him and not the society. Therefore the education that he 

got did not make him a civilised person. Extract 13.1 illustrates a sample of 

good responses from one of the candidates. 
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Extract 13.1: A sample of a candidate’s correct answers. 

The analysis shows further that the candidates who scored a 0 mark (1.1%) 

did not understand the question; as a result, they provided arguments which 

do not support the statement. For example, there were some candidates who 

provided message as an argument to support that educated people might not 

be necessarily civilised. Other candidates argued that it is not necessarily to 

be civilised if the leaders are irresponsible and use their power to benefit 

themselves. A sample of poor responses from one of the candidates is 

provided in extract 13.2. 
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Extract 13.2: A sample of response with incorrect answers. 

This candidate provided the description of educated characters instead of 

showing how educated people can be uncivilised. The candidate also 

addressed the uncivilised practises of educated people instead of giving 

arguments to support the statement that educated people might not be 

necessarily civilised. This candidate explained the role of literature to the 

society, such as preserving the culture, creating awareness, and insuring 

peace and love in the society instead of providing arguments to support the 

statement that though a person is educated, he/she might not necessarily be 

civilised. 

3.2.2 Question 6: Analysis of Novels/Short Stories 

In this question, the candidates were required to analyse the relevance of the 

novels/short stories read in class to their societies. They were instructed to 

use two novels or short stories of their choice with four points from each. 

This question was optional and it was among the best performed questions. 

It was attempted by 19,394 (80.8%) candidates, out of which 44.5 per cent 

scored from 12 to 20, 54.5 per cent scored from 7 to 11 marks and only 1.0 

per cent scored marks from 0 to 1. The analysis shows that the overall 

performance of the candidates in this question was good because 99 per cent 

scored from average and above. The performance for this question is 

summarised in Figure 14. 

 
Figure 14: The performance of candidates in question 6. 
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The candidates with high marks in this question (44.5%) provided a good 

introduction, main body and a relevant conclusion. In introductory part, the 

candidates provided the overview of the question about the problems 

addressed by the writers and how they reflect what exists in their own 

societies. In the main body, candidates addressed the problems writers write 

to reveal their societies and how they help us to reflect the candidates’ 

societies by giving four points from each novel. 

The candidates who used a novel The Beautiful Ones are Not Yet Born 

written by Ayi Kwei Armah showed how Joseph Koomson was involved in 

corruption by using the government funds to buy very expensive fishing 

boats. In our today’s societies there are many people who engage in 

corruption, especially those holding different positions in the government 

and private sectors. 

Furthermore, the candidates cited the problem of poverty that has been 

revealed in this novel when the old woman failed to buy sugar and went to 

the man’s home to ask for little sugar. Poverty exists in some places in our 

societies where some people especially in rural areas where the majority fail 

to provide basic needs for their families.  

Moreover, some candidates cited the problem of moral decay which has 

been revealed in the novel by a small boy who makes love with small girls 

known as the holy child girls or from Achimota. Also, Koomson who is a 

minister uses public funds to hide young, juicy vaginas (young girls) in big 

hotel known as Atlantic Caprice.  This reflects immorality that is being done 

in our societies where the grown-up people make love with small girls 

especially students. This makes some students to get early pregnancy as it is 

reported by the mass media. 

The candidates who used A Man of the People written by Chinua Achebe 

cited the problem of nepotism which has been revealed in the novel. TC 

Kobino, the minister of public construction appoints the boy from his village 

to be the road engineer, while he does not have the required qualifications.  

Chief Nanga, also invites Odili Samalu to Bori so as to give him a 

scholarship only because they come from the same tribe. This also happens 

in our society where the people who have positions in the government 

favour their relatives when it comes to the issue of employment and social 

services. 
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The problem of poverty was also cited as one of the problems that has been 

revealed in the novel where by Odo and his family live in a poor house of 

red earth and thatched roof. This reflects poverty which exists in our 

societies whereby some people in some regions are still living in poor and 

small houses constructed by mud and grasses. 

Polygamy is another problem which has been pointed out by the candidates 

as it has been revealed in this novel. Hezekiah Samalu fails to provide basic 

needs to his five wives and his thirty two children. This is common in our 

societies where some men who have many wives fail to provide basic needs 

to their wives and children and as a result, the children fail to attend to 

school because their parents cannot pay school fees. Extract 14.1 

exemplifies good responses from one of the candidates. 
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Extract 14.1: A sample of correct answers. 

The analysis shows further that the candidates who scored low marks (1.0%) 

in this question exhibited the following weaknesses: some candidates 

analysed problems without showing how they reflect today’s society. 

Another case of misconception was observed when some candidates showed 

what is happening in their societies without using examples from the novel.  

Other candidates conveyed messages instead of showing the reflection of 

what is addressed by the writers to their societies.  

One of the candidates, for example, stated the message that we should fight 

against corruption which is contrary to the demands of the question. It was 

also noted that some candidates used characters from plays to respond to the 

question. For example, one of the candidates used Kiguunda and Gathoni 

who appear in a play I Will Marry When I Want written by Ngugi Wa 

Thiongo’ and Ngugi Wa Mirii. These candidates also used characters such 

as Mr Billing and Dr. Stockmann from An Enemy of the People, written by 

Henrik Ibsen. This indicates that they either did not read novels or failed to 

understand the instructions. 
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3.2.3 Question 7: Analysis of Novels and Short Stories 

This question required the candidates to show how the authors reveal the 

causes of poverty in Africa by giving four points from any two novels and 

short stories of their choice from the list given. 

The question was optional and was one of the best performed questions. It 

was attempted by 19447 (81.0%) of the candidates, out of which 51.9 per 

cent scored from 12 to 19 marks, 44.9 per cent scored from 7 to 11 marks 

and only 3.2 per cent scored marks ranging from 0 to 6. The analysis shows 

that the overall candidates’ performance in the question was good because 

96.8 per cent scored from average to good. The performance is summarised 

in Figure 15. 
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Figure 15: The candidates’ performance in question 7. 

The candidates who scored high marks (51.9%) provided a good 

introduction, main body with a good flow of ideas and an appropriate 

conclusion. In the introductory part, they defined the key term which is 

poverty and stated the two novels or short stories of their choice to be used. 

In the main body, they were able to provide the causes of poverty by giving 

four points from each of the two novels or short stories. 

The candidates who made reference to the novel The Beautiful Ones Are Not 

Yet Born written by Ayi Kwei Armah wrote on characterisation to reveal 

corruption which is practised by Joseph Koomson to show how it makes 

people such as the Man to live a poor life. This is observed when Joseph 
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Koomson uses the government funds to hire a very expensive hotel known 

as Atlantic Caprice to sleep with small girls.  

Symbolism is a word which is used to refer to something quite different, but 

which has a certain similarity to its usual meaning. Symbolism as a 

technique has been used by writers to reveal the causes of poverty. Joseph 

Koomson’s house which is referred to as a bungalow has been used to 

represent selfishness of leaders which causes poverty to the people such as 

the old woman who begs for sugar, the prostitutes who sell themselves and 

women selling green oranges. Additionally, Joseph Koomson is living in an 

expensive house, has a lot of fishing boats and a well-furnished sitting room 

while people like the Man are living miserably. This poverty is caused by 

selfish. 

Foreshadowing is used to give a hint or suggestion within a story that is 

given by the author as a clue about an event that will take place later in the 

story. This technique is also used to show the causes of poverty in his 

society. The man predicts that Joseph Koomson is going to fool Oyo and her 

mother on the fishing boat business. This reveals exploitation done by the 

leaders which causes people in Ghanaian society to be poor, including the 

man and his family. This is observed when Joseph Koomson buys the 

fishing boat by using Oyo’s name and refuses to share the profit that has 

been obtained from that fishing boat. This is a result of betrayal and 

selfishness. 

The candidates who used A Man of the People written by Chinua Achebe 

used symbolism to bring out the causes of poverty in his society. In the 

novel the words earth worm has been used in order to represent exploitation 

which causes poverty to the people of Anata village. This is seen when the 

road engineer wants to be given a bribe in order to construct a road from 

Giligili to Anata. This makes people in Anata village to live without good 

roads. 

Chief Nanga’s mansion has been used symbolically to represent selfishness 

of political leaders. Chief Nanga’s house has seven bed rooms and seven 

bathrooms with expensive furniture which signifies selfishness and this has 

caused poverty to other people like Odo who lives with his family in a poor 

house of red earth and thatched roof.  

Characterisation has also been used by the writer to show the causes of 

poverty through a character Hezekiah Samalu who is a polygamist. This 
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causes his family to live a poor life. This is seen when he fails to provide 

basic needs to his five wives and thirty two children because of having a big 

family.  Extract 15.1 shows a sample of good responses from one of the 

candidates. 
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Extract 15.1: A sample of correct answers. 

However, the candidates who scored low marks in this question (3.2%) did 

not understand the requirements of the question, hence they provided 

irrelevant responses. Some of the candidates addressed the issue of poverty 

and showed its relevance to the society, instead of showing how the authors 

reveal the causes of poverty in the society. Extract 15.2 is a sample of an 

incorrect answer. 
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Extract 15.2: A response of a candidate who wrote incorrect answers 

3.2.4 Question 8: Poetry Analysis 

The candidates were required to show how the poets/poetesses have been 

successful in employing figures of speech to reinforce their messages by 

using four poems. 

The question was compulsory, hence and it was attempted by 23496 

(97.9%) of the candidates. Of these, 22.9 per cent scored from 12 to 20 

marks, 46.2 per cent scored from 7 to 11 marks and 30.9 per cent scored 

marks ranging from 0 to 6. The analysis shows that the overall candidates’ 

performance in the question was good because 69.1 per cent scored an 

average of 35 per cent and above. The candidates’ performance in this 

question is summarised in Figure 16. 
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Figure 16: The performance of candidates in question 8. 

The candidates with high marks in this question provided a good 

introduction, main body with a good flow of ideas and a good conclusion. In 

the introductory part, they defined the key terms such as figures of speech 

and message and identified the four poems to be used in answering the 

question. In the main body, the candidates used figures of speech to 

reinforce their messages by using four poems selected from the list. 

The candidates who referred to the poem The Vultures written by David 

Diop cited symbolism in which the poet has used vultures to represent 

oppressive leaders or new colonialism to reinforce the message that neo- 

colonialism creates hatred toward the imperialist agencies or governments. 

Personification is a technique that is used to make inanimate things to 

behave as intelligent human beings. Non-human beings are given human 

ability such as thinking, talking or laughing for example death looked 

cruelly into his eyes. This has been used to reinforce the message that there 

is new colonialism in Africa operating through religion. This is proved when 

the poet says: When civilisation kicked us in the face, which has been used 

to reinforce the message that we have to be careful with religion since it can 

be used to blind our reasoning and soften our hearts so that we may not 

resist against the influence of imperialism to our countries. 

Also, hyperbole as a technique is defined as a purposeful exaggeration of 

facts in order to emphasize an idea. This has also been used in this poem on 

a verse that reads: The foreigner who knew all the books but did not know 
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love has been used to reinforce the message that imperialists pretended to 

preach love that is written in the Holy Bible, but still enslaved Africans. 

The candidates who made reference to the poem Letter from a contract 

worker by Antonio Jacinto cited personification in a verse that reads: I feel a 

nameless pain which pursues me. The word pain has been given the quality 

of human being to pursue in order to reinforce the message that longing for 

your lover can make you to have strong feelings such as pain especially if 

you love someone. 

Simile is a figure of speech which compares two dissimilar things by using 

words, such as, like, as….as, etc. This is also used by the poet as it is seen in 

the verse that reads: Your lips as red as tacula fruit to reinforce the message 

that beauty is something which makes someone to love a woman and then 

appreciate her. This shows that some men appreciate the beauty of their 

lovers especially when they are far from each other. 

The poet has also used paradox, which refers to words which have a 

contradiction within themselves, for example, freezing fires and a well-

known secret agent. In the poem, The letter from a contract Worker by 

Antonio Jacinto, there is a verse that reads:……the madness of our passion 

to reinforce the message that being together might be equal to insanity or 

that the two lovers who love each other deeply can do things which are 

abnormal. 

Hyperbole is a purposeful exaggeration of facts in order to emphasize an 

idea as it is seen in a verse that reads: A letter which would make any other 

in all Kilombo worthless in order to reinforce the message that love is 

unique and worthier than anything in the society. Thus, men should have 

true love to their women. Extract 16.1 is a sample of a good response. 
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Extract 16.1: A sample response of a correct answer. 

It was further noted that the candidates with poor performance (30.9%) 

failed to show how the poets or poetesses have used figures of speech to 

reinforce message. This was attributed to lack of knowledge on the analysis 

of poetry. These candidates demonstrated several weaknesses. Some of them 

provided figures of speech with incorrect verses without the message. 

Others addressed themes without using figures of speech and verses which 

convey messages, while some of them provided messages without using 

figures of speech. There were also some candidates who provided 
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definitions of figures of speech without using quotations and the messages 

which were supposed to be reinforced. For example, one of the candidates 

provided figures of speech such as irony, euphemism, personification, 

analogy and symbolism, and provided irrelevant definitions without 

indicating verses and messages which are supposed to be delivered. Extract 

16.2 is a sample of a poor response.  

 
Extract 16.2: A sample of an incorrect response. 

In extract 16.2, the candidate wrote figures of speech without showing how 

the poets have used them to reinforce their messages instead of using 
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relevant poems to show how successful the poets have been in reinforcing 

their message. For example, in the poem The Song of the Low, Symbolism: 

‘dirty clay’ (verse 2, stanza 2) has been used to symbolise the deplorable and 

low condition of work. 

4.0 ANALYSIS OF THE CANDIDATE’S PERFORMANCE PER TOPIC 

A total of 6 topics were tested in the English Language examination. Four 

topics were tested in 122/1 English Language paper 1 and two topics were 

tested in 122/2 English Language paper 2. The analysis of the candidates’ 

performance in each topic in 122/1 English Language paper 1 shows that, 

the topic of Interpretation and Translation ranked first with 93.1 per cent of 

the candidates scoring an average of 35 per cent and above. The second 

topic was Introduction to Language (90.7%). This was followed by the topic 

of Language Skills which had an average performance of 69.6 per cent. The 

topic of Word Formation had the weakest performance of 7.2 per cent. 

The analysis of the candidates performance in 122/2 English Language 

paper 2 indicates that the topic of Writing had an average performance of 

80.6%. This was followed by Appreciating Literary Works which had an 

average performance of 70.6 per cent. The appendix summarises the 

candidates’ performance in both 122/1 English Language 1 and 122/2 

English Language 2 topics for the year 2020. 

5.0 CONCLUSION 

The general performance for the subject was good, because 68.6 per cent of 

the candidates scored 35 per cent and above. This performance was due to 

the fact that the candidates had sufficient knowledge and skills on the 

content covered in the topics and were able to adhere to the requirements of 

the questions. Their good command of English Language enabled them to 

explain and elaborate their points clearly. The candidates who performed 

well were good at communication skills and writing skills. 

In 122/1 English Language 1, the candidates scored high marks in question 

7, from the topic of Language Skills, and question 4 from Interpretation and 

Translation. The lowest performance in this paper involved Question 2, 

from the topic of Word Formation. The factors for the failure included 

inadequate knowledge on the subject matters and poor English language 

writing skills as well as lacking knowledge on word formation processes. 
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The analysis shows that, the highest performance in 122/2 English Language 

2 was in Questions 6 and 7, both from the topic of Appreciating Literary 

Works. The lowest performed question was Question 3 from the same topic. 

6.0 RECOMMENDATIONS  

In order to improve the performance of prospective candidates, it is 

recommended that; 

(i) Candidates should spend extra time in revising the topic of word 

formation to enable them tackle different questions based on the topic 

so as to improve the performance in that topic. 

(ii) Candidates should regularly practice English Language skills. They 

should be given various tasks related to speaking, writing, listening 

and reading in order to improve their skills. Frequent language skills 

practices will help candidates to improve their competence, hence 

write better responses in examinations. 

(iii) Candidates should be encouraged to read widely to enable them to 

improve their vocabulary and grammar. This will eventually enable 

them to spell words correctly and construct grammatically correct 

sentences in both spoken and written English. 

(iv) In Paper 2, the candidates should be encouraged to widely read 

recommended novels, short stories, plays and poems in order to have 

thorough understanding of both the content and form of the books for 

easy analysis and evaluation of the books read. This will help them to 

understand any piece of writing and improve their analytical skills. 
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Appendix 

 

S/N Topic 

Performance Per Question 

Number of 

Questions 

Percentage of 

Candidates who got 

35% and Above 

Remarks 

1.  Interpretation and 

Translation 
1 93.1 Good 

2.  Introduction to Language 2 90.7 Good 

3.  Writing 2 80.6 Good 

4.  Appreciating Literary 

Works 
6 70.6 Good 

5.  Language Skills 4 69.6 Good 

6.  Word Formation 
1 7.2 

Weak 




